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1 Jacob said to Priya, ‘Why are you sketching on the wall?’  

Choose the correct indirect statement: 
(d) 

 a) Jacob asked 

Priya why was 

she sketching 

on the wall. 

b) Jacob asked 

Priya why had 

she been 

sketching on 

the wall 

c) Jacob asked 

Priya that why 

is she 

sketching on 

the wall. 

d) Jacob asked 

Priya why she 

was sketching 

on the wall. 

Jacob asked 

Priya why 

she was 

sketching on 

the wall. 

2 Match the following:  

A. Abjure i. Easily influenced 

B. Brusque ii. Abandon forever 

C. Erudite iii. Short and abrupt 

D. Malleable iv. Learned 
 

(b) 

 a) A-i, B-ii, C-

iii, D-iv 

b) A-ii, B-iii, 

C-iv, D-i 

c) A-iii, B-ii, 

C-i, D-iv 

d) A-ii, B-iii, 

C-iv, D-i 

A-ii, B-iii, 

C-iv, D-i 

3 Which statement is/are correct: 

A. A metaphor directly compares two unlike things using the 

words "like" or "as". 

B. A simile is a figure of speech that involves the repetition of the 

initial consonant sounds in a series of words. 

C. Personification is the attribution of human characteristics to 

non-human entities. 

D. An oxymoron is a figure of speech in which two opposite ideas 

are joined to create a single effect, typically using words like "like" 

or "as". 

 

(d) 

 a) A, B and C b) A, B and D c) Only  D d) Only C  Only C 

4 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

 

A: Assertion: Shakespeare's play "Macbeth" is often considered a 

tragedy 

 

B: Justification: "Macbeth" ends with the death of the main character 

and the downfall of several other key characters. 

 

 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

5 S1: Kolkata unlike other cities kepts its trams 

P: As a result there was horrendous congestion 

Q: It was going to be the first in South Asia 

R: They run down the centre of the road 

S: To ease in the city decided to build an underground railway line 

S6: The foundation stone was laid in 1972. 

 

The proper sequence should be: 

(b) 
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 a) PRSQ b) RPSQ c) PSQR d) SQRP RPSQ 

6 Elections to panchayats in state are regulated by: (d) 

 a) Gram 

Panchayat  

b) Nagar 

Nigam 

c) Election 

commission in 

India 

d)State 

Election 

Commission 

 

State 

Election 

Commission 

7 Match the following:  

A. Zamindari System i. Owner-Cultivator System 

B. Mahalwari system ii. Not a land tenure System 

C. Ryotwari system iii. communal System 

D. Teenkathiya System iv. Landlord-tenant System 
 

(d) 

 a) A-i, B-ii, C-

iii, D-iv 

b) A-ii, B-i, C-

iii, D-iv 

c) A-iii, B-ii, 

C-i, D-iv 

d) A-ii, B-iii, 

C-iv, D-i 

A-ii, B-iii, 

C-iv, D-i 

8 Which statement is/are correct: 

A. The Great Wall of China is visible from the moon with the 

naked eye. 

B. The Sahara Desert is the largest desert in the world. 

C. The Amazon River is the longest river in the world. 

D. Mount Everest is the highest mountain in the world above sea 

level. 

(c) 

 a) A, B and C b) A, B and D c) Only  D d) Only C  Only  D 

9 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes 

A: Assertion: The Sahara Desert is the largest desert in the world. 

B: Justification: The Sahara Desert is the hottest desert in the world, 

with extremely high temperatures and sparse rainfall. 

(a) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

(A) is false 

but (B) is 

true 

10 Press Council of India is a (b) 

 a)Profitable 

Organization 

b) The 

Statutory 

Quasi-judicial 

Body 

c) The 

Constitutional 

Quasi-judicial 

Body 

d) None of 

these 

The 

Statutory 

Quasi-

judicial 

Body 

11 Pension Department has recently launched an online portal for 

government retirees. What is the name of the portal? 
(c) 

 a) Abhyukt 

Portal 

b) Vriddhi 

Portal 

c) Bhavishya 

Portal 

d) Vikas Portal Bhavishya 

Portal  

12 Match the following:  

A. Wayanad Wildlife 

Sanctuary 

i. Kerala 

B. Pranahita Wildlife 

Sanctuary 

ii. Telangana 

C. Melghat Wildlife 

Sanctuary 

iii. Maharashtra 

(a) 
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D. Bramhagiri Wildlife 

Sanctuary 

iv. Karnataka 

 

 a) A-i, B-ii, C-

iii, D-iv 

b) A-ii, B-i, C-

iii, D-iv 

c) A-iii, B-ii, 

C-i, D-iv 

d) A-ii, B-iii, 

C-iv, D-i 

A-i, B-ii, C-

iii, D-iv  

13 Which statement is/are correct: 

A. The United Kingdom is no longer a member of the European 

Union. 

B. The Paris Agreement is a trade pact between European and 

Asian countries. 

C. The United States rejoined the World Health Organization 

(WHO) in 2022. 

D. The International Space Station (ISS) is operated solely by 

NASA. 

 

(a) 

 a) Only A b) A, B and D c) Only  D d) Only C  Only A 

 

14 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes 

A: Assertion: The COVID-19 pandemic led to significant economic 

recessions globally in 2020. 

 

B: Justification: Governments worldwide imposed lockdowns and 

travel restrictions to curb the spread of the virus, which disrupted 

economic activities. 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

15 What is the theme of World Cancer Day 2024? (a) 

 (a) Close 

the Care Gap 

  

b) Not Beyond 

Us 

 

c) Together 

let’s do 

something 

d) We can I can Close the 

Care Gap 

 

16 A sum of Rs. 53 is divided among A, B and C in such a way that A 

gets Rs. 7 more than what B gets and B gets Rs. 8 more than what C 

gets. The ratio of their shares is: 

 

(c) 

 a) 27:20:12 b) 27:17:09 c) 25:18:10 d) 25:19:11 25:18:10 

17 Match the following:  

A. x2- 4 i. (x-2) (x+2) 

B. x2 + 5x + 6 ii. 3(x-2)2 

C. x2- 2x - 8 iii. (x+2) (x+3) 

D. 3x2 – 12x +12 iv. (x-4) (x+2) 
 

(a) 

 a) A-i, B-iii, C-

iv, D-ii 

b) A-ii, B-i, C-

iii, D-iv 

c) A-iii, B-ii, 

C-i, D-iv 

d) A-ii, B-iii, 

C-iv, D-i 

A-i, B-iii, C-

iv, D-ii 

18 Which statement is/are correct: 

A. The square root of 64 is 16. 

B. In a right-angled triangle, the square of the hypotenuse is equal 

to the sum of the squares of the other two sides. 

(c) 
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C. The value of π (pi) is exactly 3.14. 

D. A prime number is a number that is divisible by more than two 

distinct positive integers. 

 a) Only A b) A, B and D c) Only  B d) Only C  Only B 

19 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes 

A: Assertion: In a right-angled triangle, the square of the length of 

the hypotenuse is equal to the sum of the squares of the lengths of 

the other two sides. 

B: Justification: This relationship is known as the Pythagorean 

theorem, which holds true for all right-angled triangles. 

 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

20 If ‘+’ means ‘×’ and ‘÷ ‘means ‘-‘ then what is the value of 

82÷12+2×20-5? 
(c) 

 a) 92 b) 112 c) -403 d) -115 -403 

21 Which of the research design can be utilised to study attitudes and 

behaviour? 
b 

 a)  Case study 

design 

b) 

Longitudinal 

design 

c) Diagnostic 

design 

d) Cross 

sectional 

research 

design 

Longitudinal 

design 

22 Qualitative research is a/an: a 

 a) exploratory 

and 

unstructured 

b) exploratory 

and structured 

c) Scientific 

and structured 

c) data centric 

and 

unstructured 

exploratory 

and 

unstructured 

23 Positivism is a view of: a 

 a) quantitative 

approach 

b) subjectively 

created 

c) subjective 

interpretation 

d) quantifiable quantitative 

approach 

24 Case study is an example of : b 

 a) quantitative 

study 

b) qualitative 

study 

c) Both a and b d)experimental 

method 

qualitative 

study 

25 The strongest evidence for causality comes from research method: a 

 a) 

experimental 

b) casual-

comparative 

c) correlation d) ethnography experimental 

26 Research is a __________ investigation of a phenomenon: c 

 a) systematic 

and uncritical 

b) 

unsystematical

ly and critical 

c) systematic 

and critical 

d) 

unsystematical

ly and 

uncritical 

systematic 

and critical 

27 Social work research is the investigation of questions in the social 

welfare with purpose of yielding answer to problems of social work. 

The definition of social work was given by:  

b 

 a) Webster b) Carter c) Macdonald  d) Kerlinger Carter 

28 The types of pre-experimental design include:  
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 a) on-spot case 

study 

b) on group 

pretest-post 

study design 

c) quasi-

experimental 

design 

d) post-test 

comparison 

group design 

d 

29 Which among the following is not a primary source of data 

collection? 

d 

 a) Observation b) 

Questionnaire 

c) Interview d) Referral Referral 

30 Which of the following is not a technique of interviewing? b 

 a) Exploring b) Intimidating c) Topical shift d) 

Generalisation 

Intimidating 

31 Which of the following is not normally associated with qualitative 

data? 

d 

 a) Analysis 

begin as data 

are collected 

b) Numbers c) Analysis 

guided by 

standardised 

rules 

d) 

Researchers’ 

views are of 

high 

importance. 

Researchers’ 

views are of 

high 

importance. 

32 Random selection is made in: a 

 a) probability 

sampling 

b) non-

probably 

sampling 

c) Both a and b d) None of the 

above 

probability 

sampling 

33 A set of questions framed for the purpose of data collection: b 

 a) interview b) 

questionnaire 

c) survey d) discussion questionnair

e 

34 Null hypothesis, when it is true, it is called: a 

 a) Type I Error b) Type II 

Error 

c) Type III 

Error 

d) Synthesis Type I Error 

35 The observation made without involving extrinsic and intrinsic 

variables is: 

c 

 a)  

participation 

observation 

b) non-

participant 

observation 

c) controlled 

observation 

d) uncontrolled 

observation 

controlled 

observation 

36 The source of data collected in the field by the researcher is called: a 

 a) primary 

source 

b) secondary 

source 

c) tertiary 

source 

d) None of the 

above 

primary 

source 

37 “Statistics is a collection of noteworthy facts concerning state both 

historical and descriptive.” Who said this? 
a 

 a) Gottfried 

and Achenwall 

b) Wappons c) A L Bowley d) Webster Gottfried 

and 

Achenwall 

38 Read the statements (A) and (B) and choose the appropriate option. 

 

A: Assertion: Nominal Level of Measurement is the lowest and 

simplest level of measurement. 

 

B: Justification: A variable is classified into several nominal sub-

classes. 

b 

 a)Both A and 

B are true, but 

B is not the 

correct 

b) Both A and 

B are true and 

B is the correct 

explanation of 

A 

c) A is false, 

but R is true 

d) A is true, 

but R is false 

Both A and 

B are true 

and B is the 

correct 
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explanation of 

A 

explanation 

of A 

39 A histogram is a graphical representation of which of the 

following? 
b 

 a) An Ogive b) A 

Frequency 

Distribution 

c) A 

Cumulative 

Frequency 

Distribution 

d) A Stem and 

Leaf Plot 

A Frequency 

Distribution 

40 Data with a sub-category can be best presented as: c 

 a) Bar 

Diagram 

b) Histogram c) Sub-divided 

Bar Diagram 

d) Multiple 

Bar Diagram 

Sub-divided 

Bar Diagram 

 

 

41 The foundation of preparing a scholarly writing into a study is:  b 

 a)  Sampling 

Frame 

b) Literature 

Review 

c) Research 

Design 

d) Data 

Analysis 

Literature 

Review 

42 Measure of Central Tendency used in Non-parametric Test is b 

 a) Mean b) Median c) Range d) Standard 

Deviation 

Median 

43 Which of the following is used to compare the mean of a single 

group of observation with a specified value? 
 c 

 a) Unpaired 

two samples t-

test 

b) Paired two 

samples t-test 

c) One Sample 

t-test 

d) ANOVA One Sample 

t-test 

44 Using other people’s material without giving proper credit is termed 

as: 
b 

 a) Falsification b) Plagiarism c) Fabrication d) Copying Plagiarism 

45 What is true with regard to MOOCs? 

  

A. It is Massive Open Online Courses 

B. It is Medium Open Online Courses 

C. It is Minimum Open Online Courses 

D. It is Maximum Open Online Courses 

 

a 

 a) Only A is 

True 

b) Only B is 

True 

c) Both C & B 

are True 

d) Both C & D 

are True 

Only A is 

True  

46 Social Development is a  b 

 a)  Strategy b) Process c) Technique d) Program Process 

 

 

47 Review of Literature is carried out after b 

 a)  Data 

Collection 

b) 

Identification 

and 

Formulation of 

Research 

Problem 

c) Planning of 

Research 

Design 

d) Analysis of 

Data 

Identificatio

n and 

Formulation 

of Research 

Problem 

48 UGC-CARE stands for: a 

 a) University 

Grants 

Commission - 

Consortium 

b) University 

Grants 

Commission - 

Centre for 

c) University 

Grants 

Commission - 

Club for 

d) University 

Grants 

Commission - 

Centre for 

University 

Grants 

Commission 

Consortium 
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for Academic 

and Research 

Ethics 

Academic and 

Research 

Ethics 

Academic and 

Research 

Ethics 

Academic and 

Regional 

Evaluation 

for 

Academic 

and Research 

Ethics 

49 The observation of one’s own mental and emotional process is called 

as:  
b 

 a)  Self-

observation 

b) 

Introspection 

c) 

Retrospection 

d) Physical 

Sensation 

Introspection 

50 ‘APA’ stands for: b 

 a)  American 

Philosophical 

Association 

b) American 

Psychological 

Association 

c) Asian 

Psychological 

Association 

d) American 

Psychological 

Assessment 

American 

Psychologica

l Association 

51 Which among the following is not a major characteristic of social 

reform? 
(d) 

 a) Perceived 

existence of 

some social 

evil 

 

b) Collective, 

focused efforts 

by people 

 

c) A belief that 

overall system 

is not to be 

overthrown 

d) Non-violent 

and violent 

methods as 

means 

Non-violent 

and violent 

methods as 

means 

52 Match List - I and List - II and choose the correct answer from the 

code given: 

A. Descriptive Statistics                                       i. Process of generalizations 

B. Inferential Statistics      ii. Development of certain indices 

from the raw data 

C. Skewness iii. Pointing to the nature of 

distribution of  items in middle of 

series 

D. Kurtosis iv. Showing the manner in which 

items are clustered around the 

average 
 

(a) 

 a) A-i, B-ii, C-

iii, D-iv 

b) A-ii, B-i, C-

iii, D-iv 

c) A-iii, B-ii, 

C-i, D-iv 

d) A-i, B-iv, C-

iii, D-ii 

A-i, B-ii, C-

iii, D-iv  

53 Which statement is/are correct: 

A. Social workers only provide services to individuals with mental 

health issues. 

B. Social workers primarily work in schools. 

C. Social workers advocate for social justice and support vulnerable 

populations. 

D. Social workers do not engage in community organization. 

 

(d) 

 a) Only A b) A, B and D c) Only  D d) Only C  Only C 

54 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes 

 

A: Assertion: Empowerment is a key principle in social work 

practice 

 

B: Justification: Empowerment involves enhancing individuals' 

abilities, strengths, and capacities to take control of their lives and 

make positive changes. 

 

(d) 



9 

 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

55 Social Work is___________________ (c) 

 a) An 

Academic 

Discipline 

  

b) A Practice 

Based 

Profession 

c) Both A and 

B 

d) Equivalent 

to Social 

Service 

Both A and 

B 

56 Who among the following does not belong to Frankfurt School? (d) 

 a) Theodor 

Adorno  

b) Max 

Horkheimer 

c) Erich 

Fromm 

d) Antonio 

Gramsci 

Antonio 

Gramsci 

57 Match the following: 

A. T.K. Nair i. An Introduction to Social 

Psychology                                            

B. B. Kuppuswamy ii. Social Work Education and Social 

Work Practice in India 

C. Wilson and Ryland iii. Social Work Research Methods 

for the Helping Professions 

D. Polansky 

 

iv. Social Group Work Practice 

 

(c) 

 a) A-i, B-ii, C-

iii, D-iv 

b) A-ii, B-iii, 

C-i, D-iv 

c) A-ii, B-i, C-

iv, D-iii 

d) A-iii, B-ii, 

C-i, D-iv 

A-ii, B-i, C-

iv, D-iii  

58 Which statement is/are correct: 

A. The primary focus of social work is to enforce laws. 

B. Social workers do not require any formal education or training. 

C. Social workers aim to improve the well-being of individuals, 

families, and communities. 

D. Social work only deals with financial assistance. 

(d) 

 a) Only A b) A, B and D c) Only  D d) Only C  Only C 

59 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

 

A: Assertion: Social workers employ a strengths-based approach  in 

their interventions. 

 

B: Justification: The strengths-based approach focuses on 

identifying and building upon the strengths and resources of 

individuals, families, and communities rather than solely focusing 

on deficits or problems. 

 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

60 Who founded Charity Organization Society (COS)? (a) 
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 a) Octavia Hill b) Edward c) Beveridge d) Samuel 

Augustus 

Barnett 

Octavia Hill 

61 Greenwood identified attributes of a profession based on a relative 

approach. They included: 

 

(d) 

 a) A systematic 

body of 

knowledge 

b) Professional 

authority 

 

c) Code of 

ethics 

d) All of the 

above 
All of the 

above 

62 Match  the items in List-I with List-II and choose the correct code 

given below: 

 

A. Oral stage                i. Trust V/s Mistrust 

B. Anal stage               ii. Industry V/s Inferiority 

C. Genital stage           iii. Autonomy V/s Shame & 

Doubt 

D. Latency iv. Initiative V/s Guilt 
 

(c) 

 a) A-iii, B-i, C-

iv, D-ii 

b) A-iii, B-ii, 

C-i, D-iv 

c) A-i, B-iii, C-

iv, D-ii 

d) A-iii, B-iv, 

C-i, D-ii 

A-i, B-iii, C-

iv, D-ii  

63 Which statement is/are correct: 

A. Social workers cannot work with children. 

B. Social work interventions can include therapy, crisis 

intervention, and community organizing. 

C. Social work is the same as psychology. 

D. Social workers only work in the United States. 

 

(c) 

 a) Only A b) A, B and D c) Only  B d) Only C  Only  B 

64 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes 

 

A: Assertion: Social justice is a core value of social work. 

 

B: Justification: Social justice involves advocating for fair and 

equitable distribution of  resources, opportunities, and  rights 

within society to address systemic inequalities and promote social 

change. 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

65 BCC in Social Work Interventions stands for: 

 
(b) 

 a) Backward 

Classes 

Commission 

b) Behaviour 

Change 

Communicatio

n 

 

c) Build- Cope 

& Construct 

d) Build 

Clients 

Capacity 

Behaviour 

Change 

Communicat

ion 

 

66 As per the Juvenile Justice Act, 2015, ‘juvenile’ means a child below 

the age of: 
(b) 
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 a) 16 years 

 

b) 18 years 

 

c) 14 years 

 

d) 17 years 
18 years 

67  Match the following: 

  

A. Social Investigation  Report i. Medical Social Work 

B. Discharge Planning                                                                          ii. Child Guidance Centre 

 

C.  Workmen’s Compensation                                                                iii. Probation 

D. Behavioural Problems                                                                      iv. Social Security 
 

(a) 

 a) A-iii, B-i, C-

iv, D-ii 

b) A-ii, B-iii, 

C-i, D-iv 

c) A-ii, B-i, C-

iv, D-iii 

d) A-iii, B-iv, 

C-i, D-ii 

A-iii, B-i, C-

iv, D-ii  

68 Which statement is/are correct: 

A. Social work practice is guided by a code of  ethics. 

B. Social workers should not engage in advocacy. 

C. Social workers primarily focus on medical diagnoses. 

D. Social work is a volunteer-based profession with no professional 

standards. 

 

(a) 

 a) Only A b) A, B and D c) Only  D d) Only C  Only A  

69 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and  select the correct answer 

with the help of the codes: 

A: Assertion: Case management is a common practice in social 

work, especially in helping clients navigate complex systems and 

access resources. 

B: Justification: Case management involves assessing, planning, 

coordinating, and monitoring services and resources to meet the 

specific needs of individuals or families. 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

70 Evaluation of self-based on  ‘reflection or social comparison’ is 

known as: 
(d) 

 a) Self-

confidence 

b)Self-security c) Self-

awareness 

d) Self-esteem 
Self-esteem 

71 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes:.  

Assertion A: Social workers working with minorities require the 

knowledge of an  indepth understanding of the effects of oppression 

on minority groups. 

Reason R: Social workers are duty bound to serve the oppressed and 

marginalized. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A  
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72 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Social Work emerged as a profession is West. 

Reason R: Social work and social service are almost the same. 

c 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 
A is True, 

But R is 

false  

73 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes:.  

Assertion A: Conflicts arise due to misperceived messages. 

Reason R: Communication always creates conflicts. 

c 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 
A is True, 

But R is 

false  

74 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Rule of law has no connection with social work. 

Reason R: It only deals with human problems. 

d 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 
A is false, 

bur R is true  

 

75 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Marx argued that social change is the outcome of 

conflict. 

Reason R: He held that every society has seed for its own 

destruction. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A  

76 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes:.  

 

Assertion A: Even after eight decades since inception social work 

continues to struggle for its professional status in India. 

b 
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Reason R: Principles of Human Rights and Social Justice are 

fundamental to social work profession. 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true, 

But R is not 

the correct 

explanation 

of A 

77 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Various ethnic groups have historic relation with 

nature. 

Reason R: Human beings have been connected and civilized with 

nature. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A 

78 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Social reforms entailed change or replacement of the 

institutions. 

Reason R: Social reforms aimed to make gradual change or change 

in certain aspect of the society, rather than rapid or fundamental 

changes. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A  

79 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Arya Samaj has its foundation on Vedas 

Reason R: Arya Samaj also opposes child marriage, polygamy, 

practice of Sati, etc. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A  

80 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

a 
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Assertion A: ‘Code of Ethics’ in social work profession is important 

and essential. 

Reason R: ‘Code of Ethics’ evolve as situations present themselves 

and needs are identified. 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A  

81 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Students receiving counselling show a greater increase 

in creativity. 

Reason R:  Counselling does not require any specific skills.. 

c 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 
A is True, 

But R is 

false  

82 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

 

Assertion A: Developmental Social Welfare is a macro level 

conception. 

Reason R: Developmental Social Welfare attempts institutional 

changes. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A  

83 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

Assertion A: Group Work is non-therapeutic in nature. 

Reason R: Group norms define group behaviour. 

d 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

but R is true 

A is false, 

but R is true  

84 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes: 

 

Assertion A: Social disorganisation is the breakdown of social order. 

b 
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Reason R: Social institutions fail to function in social 

disorganisation. 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true, 

But R is not 

the correct 

explanation 

of A  

85 Which one of the following is the core component of Social Work 

Practicum? 
a 

 a) Concurrent 

Field Work 

b) Assignment c) Class 

Lecture 

d) Presentation Concurrent 

Field Work 

86 Match the following Pairs: 

 

A. Contemporary Social Work I. Visva-Bharati 

B. Perspective in Social Work II. TISS 

C. The Indian Journal of Social 

Work 

III. University of Lucknow 

D. The Journal of Social 

Work & Social Development 

IV. Nirmala Niketan 

 

b 

 a) A-II, B-IV, 

C-III, D-I 

b) A-III, B-IV, 

C-II, D-I 

c) A-I, B-IV, 

C-II, D-III 

d) A-III, B-I, 

C-II, D-IV 

A-III, B-IV, 

C-II, D-I  

87 Which one of the following is major problem related to social work 

practice? 
d 

 a) Lack of 

contextual 

literature                                                               

b) Integration 

of theory and 

practice 

c) Social work 

not given due 

recognition                                                 

d) Lack of 

trained social 

workers 

Lack of 

trained 

social 

workers 

88 Client’s Psycho-social problems are addressed by  a 

 a) Social Case 

Work 

b) Social 

Group Work 

c) Community 

Organisation 

d) Social 

Action 

Social Case 

Work 

89 _______of group work focuses on restoration to normally after a 

point of breakdown. 
a 

 a) Remedial 

Model 

b) 

Development 

Model 

c) Preventive 

Model 

d) Treatment 

Model 

Remedial 

Model 

90 The process of mutual influences between social worker and client 

is called 
c 

 a) Relationship b) 

Understanding 

c) 

Reflexiveness 

d) Report Reflexivenes

s 

91 Match the following Pairs: 

 

A. Social Group Work I. Secondary Method 

B. Social Action II. Primary Method 

C. Concurrent Field Work III. Social Work Value 

D. Social Justice IV. Social Work Practicum 
 

a 

 a) A-II, B-I, C-

IV, D-III 

b) A-III, B-I, 

C-IV, D-II 

c) A-I, B-II, C-

IV, D-III 

d)A-IV, B-I, C-

II, D-III 

A-II, B-I, C-

IV, D-III 

92 Which of the following is true with regard to the Swadhar Greh? a 
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A. Swadhar Greh is a home for Widows 

B. Swadhar Greh is a home for Victims of Trafficking 

C. Swadhar Greh is a home for Homeless Women 

D. Swadhar Greh is a home for Victims of Sexual Violence 

 a) Only A is 

True 

b) Both B & C 

are True 

c) Only C is 

True 

d) Only D is 

True 

Only A is 

True  

93 The principle of specific objective is a principle of _______. b 

 a) Social Case 

Work                                                   

b) Social 

Group Work 

c) Community 

Organisation                                            

d) Social 

Welfare 

Administration 

Social Group 

Work 

94 Swadhar Greh is a home for: a 

 a) Widows                                b) Victims of 

Trafficking  

c) Homeless 

Women                                     

d) Victims of 

Sexual 

Violence 

Widows 

95 Probation is: c 

 a) An escape 

from 

imprisonment                                  

b) A 

conditional 

suspension of 

sentence 

c) An 

institutional 

method of 

correction                                   

d) A life of 

freedom from 

any kind of 

control  

An 

institutional 

method of 

correction 

96 Match the following Pairs: 

 

A. NHRC I. 1936 

B. Tata Institute of Social 

Sciences 

II. 1993 

C.  Jawaharlal Nehru 

University 

III. 1922 

D. University of Delhi IV. 1969 
 

a 

 a) A-II, B-I, C-

IV, D-III 

b) A-III, B-II, 

C-I, D-IV 

c) A-II, B-I, C-

III, D-IV 

d) A-I, B-IV, 

C-II, D-III 

A-II, B-I, C-

IV, D-III  

97 Which of the following sequences is true with regard to the 

NASW? 

A. Standards that guide the professional conduct of social workers 

B. Skills that guide the professional conduct of social workers. 

C. Solutions that guide the professional conduct of social workers. 

D. Statements that guide the professional conduct of social workers. 

 

a 

 a) Only A is 

true 

b) Only B is 

true 

c) Both C & D 

are true 

d) Only B is 

true 

Only A is 

true  

98 How many primary methods of Social Work used in Social Work 

Practicum? 

 

c 

 a) 6 b) 4 c) 3 d) 8 3 

99 NASW stands for: b 

 a) National 

Assembly of 

Social Work                               

b) National 

Association of 

Social Workers  

c) National 

Alumni of 

Social Workers                            

d) National 

Association of 

Society 

Workers 

National 

Association 

of Social 

Workers 

100 Which is the soul of social work profession? a 

 a) Social Work 

Practicum                              

b) Family 

Visits 

c) Recording                           d) Listing Social Work 

Practicum 
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101 Which of the following is/are method(s) of getting people’s 

participation in a community? 

A. Transect Walk 

B. FGD 

C. Social and Resource Mapping 

D. Questionnaire 

a 

 a) (A), (B) and 

(C)                                                                

b) (A) only c) (D) only                                                                               d) (A) and (D) 

only 

(A), (B) and 

(C) 

 

102 Read the statements (A) and (B) and choose the appropriate option. 

A: Assertion: Transnational perspective is needed for effective 

combating of social problems of modern world. 

B: Justification: Poverty and hunger problems need global joint 

actions. 

d 

 a) (A) is 

correct but (B) 

is not correct.                                 

b) (A) is not 

correct but (B) 

is correct 

c) Both (A) 

and (B) are not 

correct                                     

d) Both (A) 

and (B) are 

correct and  

(B)  is the 

correct 

explanation of 

(A)  

Both (A) and 

(B) are 

correct and 

(B) is the 

correct 

explanation 

of (A) 

103 Which among the following is not a type of probability sampling? d 

 a) Systematic 

sample                                              

b) Stratified 

random 

sampling 

c) Multi-stage 

cluster 

sampling                                             

d) Snowball 

sampling 
Snowball 

sampling  

104 While conducting a structured interview with close-ended questions, 

one should avoid: 
a 

 a) probing                                              b) prompting c) making 

rapport                                            

d) introducing 

the research 
probing  

105 Match the following Pairs: 

 

A. Social Work Research I. Psycho-Social Problems 

B. Social Case Work II. Understanding and 

improving social interventions 

and policies 

C. Social Action III. Continuous 

Individualization 

D. Social Group Work IV. Mass Betterment 
 

c 

 a) A-I, B-II, C-

IV, D-III 

b) A-II, B-I, C-

III, D-IV 

c) A-II, B-I, C-

IV, D-III 

d) A-I, B-II, C-

III, D-IV 

A-II, B-I, C-

IV, D-III  

106 As per global definition of 2014, social work is not concerned with 

the promotion of which of the following? 

 

A. Social Change 

B. Social Cohesion 

C. Social Choices 

D. Liberation of People 

 

b 

 a) Only B is 

True 

b) Only C is 

True 

c) Both A & D 

are True 

d) Both C & B 

are True 

Only C is 

True  
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107 What is the process by which group members help one another—not 

by the gift of advice but by spontaneous and genuine exchanges of 

ideas, feelings, perspectives, and experiences? 

a 

 a) Mutual Aid b) Cohesion c) Collectivism d) 

Togetherness 
Mutual Aid  

108 Coding of an open question can be done through: a 

 a) formulating 

distinct themes                                             

b) ranging c) numbering                                            d) grouping formulating 

distinct 

themes  

109 A value that occurs most frequently in a distribution is: c 

 a) Mean                                             b) Median  c) Mode                                            d) Range  Mode  

110 Match the following Pairs: 

 

A. Remedial Model I. Mutual Aid 

B. Reciprocal Model II. Individual Change 

C. Social Goals III. Community Organisation 

D. Locality Development IV. Collective Action 
 

a 

 a) A-II, B-I, C-

IV, D-III 

b) A-I, B-II, C-

IV, D-III 

c) A-II, B-I, C-

III, D-IV 

d) A-I, B-II, C-

III, D-IV 

A-II, B-I, C-

IV, D-III  

111 Which of the following is true with regard to principle(s) which are 

followed in Gandhian Social Action Model? 

 

A. Principle of single strategy   

B. Principle of dramatization 

C. Principle of dual approach 

D. Principle of legitimization 

 

b 

 a) (A), (B) and 

(C) only                                

b) (B), (C) and 

(D) only 

c) (A) and (D) 

only                                    

d) (A), (B), 

(C) and (D)  

(B), (C) and 

(D) only 

112 Read the statements (A) and (B) and choose the appropriate option. 

 

A: Assertion: Fast growing up migration and mobility are causing 

social disorganisation, juvenile delinquency and crime. 

 

B: Justification: Migrants are all the time concerned with their 

survival and accept few social responsibilities. 

 

a 

 a) (A) is 

correct but (B) 

is wrong                                              

b) ) Both (A) 

and (B) are 

correct 

c) (A) is wrong 

but (B) is 

correct                                             

d) Both (A) 

and (B) are 

wrong 

(A) is correct 

but (B) is 

wrong  

113 Which one of the following is a major problem  related to social 

work practice? 
d 

 a) Lack of 

contextual 

literature                                                               

b) Integration 

of theory and 

practice 

c) Social work 

not given due 

recognition                                                 

d) Lack of 

trained social 

workers 

Lack of 

trained 

social 

workers  

114 Venn Diagram is one of the commonly used methods in: d 

 a) Institutional 

appraisal 

b) 

Governmental 

appraisal 

c) Non-

Governmental 

appraisal 

d) 

Participatory 

Rural appraisal 

Participatory 

Rural 

appraisal 
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115 Match the following Pairs: 

 

A. Concurrent Field Work I. Social Work Method 

B. Social Welfare 

Administration 

II. Social Work Practicum 

C. Interview Schedule III. Social Work Value 

D. Competence IV. Tool of Data Collection 
 

c 

 a) A-I, B-III, 

C-IV, D-II 

b) A-II, B-III, 

C-IV, D-I 

c) A-II, B-I, C-

IV, D-III 

d) A-I, B-II, C-

III, D-IV 

A-II, B-I, C-

IV, D-III  

116 What is the True Sequence with regard to Field Practicum? 

A. Concurrent Field Work, Observation Visit, Orientation, Block 

Placement 

B. Observation Visit, Orientation, Block Placement, Concurrent 

Field Work 

C. Orientation, Concurrent Field Work, Observation Visit, Block 

Placement    

D. Orientation, Observation Visit, Concurrent Field Work, Block 

Placement 

a 

 a) Only D is 

True 

b) Only A is 

True 

c) Both B & C 

are True 

d) Only C is 

True 

Only D is 

True  

117 Read the statements (A) and (B) and choose the appropriate option. 

 

A: Assertion: The person who needs some social and emotional help 

is called client 

B: Justification: Client is always of the same nature 

c 

 a) Both (A) 

and (B) are 

correct 

b) Both (A) 

and (B) are not 

correct 

c) (A) is 

correct but (B) 

is not correct 

d) (A) is 

correct and (B) 

is the correct 

explanation of 

(A) 

(A) is correct 

but (B) is not 

correct  

118 Which one of the following is not a defense mechanism? d 

 a) Sublimation b) 

Rationalisation 

c) Projection d) 

Confrontation 

Confrontatio

n  

119 Which of the following is a key principle of the strengths-based 

approach in Social Work? 
(b) 

 a) Focusing on 

clients' deficits 

and problems 

b) 

Empowering 

clients by 

highlighting 

their strengths 

and resources 

c) Using a 

one-size-fits-

all approach to 

intervention 

 

d) Relying 

solely on 

standardized 

assessments 

Empowering 

clients by 

highlighting 

their 

strengths and 

resources 

120 Match items in List – I with List – II and choose the correct answer 

from the codes given below:  

 

A. Social Case Work i. Funneling 

B. Social Group Work                                             ii. Gherao 

C. Community Organisation iii. Person Situation 

Configuration 

D. Social Action                                              iv. Norming and Storming 
 

(d) 

 a) A-iii, B-i, C-

iv, D-ii 

b) A-ii, B-iii, 

C-i, D-iv 

c) A-ii, B-i, C-

iv, D-iii 

d) A-iii, B-iv, 

C-i, D-ii 

A-iii, B-iv, 

C-i, D-ii  
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121 Which statement is/are correct: 

A. Social workers should never engage in political advocacy. 

B. Social workers should advocate for the rights of marginalized 

populations. 

C. Social workers should focus solely on individual client needs 

and not on broader social issues. 

D. Social workers should work to influence public policy to 

improve social conditions. 

(b) 

 a) Only A b) B and D c) Only  D d) Only C  B and D 

122 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer 

with the help of the codes: 

 

A: Assertion: Confidentiality is a fundamental principle in social 

work. 

 

B: Justification: Protecting client confidentiality is essential to 

maintain trust and ensuring that clients feel safe sharing personal 

information. 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

123 What is the primary goal of community organization in Social 

Work? 

(c) 

 a) To provide 

individual 

therapy 

b) To 

distribute 

financial aid to 

individuals 

 

c) To improve 

the quality of 

life and well-

being of 

community 

members 

 

d) To conduct 

academic 

research on 

social issues 

 

To improve 

the quality of 

life and well-

being of 

community 

members 

 

124 Which of the following is an example of a macro-level Social Work 

intervention? 

(c) 

 a)Counseling a 

client with 

depression 

b)Running a 

support group 

for domestic 

violence 

survivors 

c)Advocating 

for policy 

changes to 

reduce 

homelessness 

d)Conducting 

a home visit 

for child 

welfare 

assessment 

Advocating 

for policy 

changes to 

reduce 

homelessnes

s 

125 Which one of the following pairs is not correctly matched? 

 

A. Person-in-situation  i. Hollis 

B. Problem Solving ii. Hamilton 

C. In Sight Learning Theory iii. Kohler 

D. Trial and Error Learning 

Theory 

iv. Erich Fromm 

 

(b) 

 a) C-iii b) D-iv c) A-i d) B-ii D-iv 

126 Which statement is/are correct: (a) 
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A. Social workers should impose their own cultural values on their 

clients. 

B. Social workers should strive to understand and respect the 

cultural backgrounds of their clients. 

C. Social workers should engage in ongoing education to enhance 

their cultural competence. 

D. Social workers do not need to consider cultural factors when 

developing intervention plans.  

 

 a) B and C b) A, B and D c) Only  B d) Only C  B and C 

127 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer 

with the help of the codes: 

 

A: Assertion: Social workers should advocate for policy changes 

that address systemic inequalities. 

 

B: Justification: Systemic inequalities often contribute to the social 

problems faced by clients, and addressing these issues at the policy 

level can lead to broader, more sustainable change. 

 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

128 Which ethical principle is primarily concerned with ensuring that 

social workers provide services in a competent manner? 

(d) 

 a) Social 

justice 

 

b) Dignity and 

worth of the 

person 

 

 

c) Integrity 

 

d) Competence 

 

Competence 

 

 

129 In Social Work research, what is the term for the group that does 

not receive the intervention being studied? 

(b) 

 a) 

Experimental 

Group 

 

b) Control 

Group 

 

c) Independent 

Variable 

d) Dependent 

variable 

Control 

Group 

 

130 Which one of the following pairs is correctly matched? 

 

A. Description of experiences i. Empirical Research and 

observations 

B. Making generalizations and ii. Applied Research Theory 

building 

C. Finding solution of 

immediate 

iii. Fundamental Research 

problem 

D. Conducting observations 

for 

iv. Qualitative Research 

discovering facts 
 

(b) 

 a) C-iii b) D-iv c) A-i d) B-ii D-iv 
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131 Which statement is/are correct: 

A. Social workers should consider the client's perspective when 

making ethical decisions. 

B. Social workers should use ethical decision-making models to 

resolve dilemmas. 

C. Social workers should always follow agency policies, even if they 

conflict with professional ethics. 

D. Social workers should prioritize their own values over 

professional ethical standards. 

 

(a) 

 a) A and B b) A, B and D c) Only  D d) Only C  A and B 

132 Two statements labeled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer with 

the help of the codes 

 

A: Assertion: Social workers should utilize a strengths-based 

approach when working with clients. 

 

B: Justification: Focusing on clients’ strengths rather than their 

deficits can empower them and facilitate positive change. 

 

(d) 

 a) (A) is false 

but (B) is true 

b) Both (A) 

and (B) are 

true, but (B) is 

not the correct 

explanation of 

(A) 

c) (A) is true 

but (B) is false 

d) Both (A) 

and (B) are 

true, and (B) is 

the correct 

explanation of 

(A) 

Both (A) and 

(B) are true, 

and (B) is 

the correct 

explanation 

of (A) 

133 Which Social Work Practice model is most associated with crisis 

intervention? 

(b) 

 a)  Person-

Centered 

Therapy 

b) Task-

Centered 

Practice 

c)  Solution-

Focused Brief 

Therapy 

d) 

Psychodynami

c Therapy 

 

Task-

Centered 

Practice 

134 Circle Graph are used to show: 

A. How is part related to other part? 

B. How various sections share in the whole? 

C. How is one whole related to another whole? 

D. How are various parts related to the whole? 

(d) 

 a) A only b) A and B c) C only d) D only D only 

135 What is the purpose of doing research? 

A. To identify problem 

B. To find the solution 

C. Both A and B 

D. None of these 

(c) 

 a) A only 

 

b) B only c) Both A and 

B 

d) D only Both A and 

B 

136 Experimental research relates to: 

A. Naturalism 

B. Lived Experiences 

C. Cause-Effect Relationship 

D. Grounded Theory 

(c) 
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 a) A only b) Both A and 

C 

c) C only  d) D only C only 

 

137 Fundamental research is otherwise called: 

A. Basic Research  

B. Pure Research 

C. Both A and B 

D. None of the above 

(b) 

 a)A only b) Both A and 

B 

c) C only d) D Only Both A and 

B 

138 Which of the following is a feature of descriptive research? 

A. It is a fact-finding enquiry. 

B. Research has controlled variables. 

C. It is used exclusively for hypothesis testing. 

D. It is based on lived experiences. 

(d) 

 a) A only b) Both A and 

B 

c) C only d) D Only D Only 

139 Trickle-down theory of development holds that: (b) 

 a) Global 

prosperity 

spreads to 

domestic 

economy                                              

b) 

Development 

spreads 

downwards 

through 

greater 

demand for 

labour  

c) Rate of 

growth of 

economy is 

inversely 

proportional to 

the rates of 

taxation                                       

d) Inversely 

proportional to 

the rates of 

goods and 

services         

Developmen

t spreads 

downwards 

through 

greater 

demand for 

labour 

140 Match the following Pairs: 

 

A. HY Siddiqui I. Social Case Work 

B. Mary Richmond II. Community Organisation 

C. Paul D Chowdhry III. Social Group Work: A 

Helping Process 

D. Gisela Konopka IV. Social Welfare 

Administration 
 

(a) 

 a) A-II, B-I, C-

IV, D-III 

b) A-I, B-II, C-

IV, D-III 

c) A-IV, B-I, 

C-II, D-III 

d) A-III, B-IV, 

C-I, D-II 

A-II, B-I, C-

IV, D-III 

141 Which one of the following is not a part of social case work 

process? 

A. Treatment  

B. Assessment 

C. Study 

D. Content Analysis 

 

(a) 

 a) Only D is 

True                                                                

b) Only B is 

True 

c) Both A & B 

are True                                                                               

d) Only C is 

True 

Only D is 

True 

 

142 Read the statements (A) and (B) and choose the appropriate option: 

A: Assertion: Socialisation is a lifelong process. 

B: Justification: Socialisation  process ends with one’s death  

(a) 

 a) Both (A) 

and (B) are 

true                             

b) (A) is true 

but  (B) is not 

true      

c) (A)is not 

true and (B) is 

not correct 

d) Both 

(A)and (B) are 

not true    

Both (A) and 

(B) are true 
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explanation of 

(A)                           

143 In disaster situations, increased mortality and morbidity from 

communicable diseases is associated with: 

(b) 

 a) Population 

displacement                                             

b) Collapsing 

health services 

c) Lack of 

disease control 

programmes                                            

d) Population 

Grorth 

Collapsing 

health 

services 

144 The state of  Physical and psychological exhaustion is technically 

called: 

(b) 

 a) Chronic 

stress                                             

b) Burnout c) Exhaustion                                         d) Daily 

hassles 

Burnout 

145 Match the following Pairs: 

 

A. TISS I. Bengaluru 

B. IISc II. Mumbai 

C. ICSSR III. Gujarat 

D. IRMA IV. New Delhi 
 

(c) 

 a) A-I, B-II, C-

IV, D-III 

b) A-II, B-I, C-

III, D-IV 

c) A-II, B-I, C-

IV, D-III 

d) A-I, B-II, C-

III, D-IV 

A-II, B-I, C-

IV, D-III 

146 What is true with regard to One Stop Centres (OSCs)? 

A. One Stop Centres (OSCs) were initiated for Helping women 

trolled in social media 

 

B. One Stop Centres (OSCs) were initiated for Integrated range of 

services for women affected by violence 

 

C. One Stop Centres (OSCs) were initiated for children  

 

D. One Stop Centres (OSCs) were initiated for elderly 

(c) 

 a) Only B is 

True 

b) Only C is 

True 

c) Both A & B 

are True 

d) Both C & B 

are True 

Both A & B 

are True 

147 A  signature pedagogy suggests that educational approaches within 

fields of studies are: 

(a) 

 a) Both the 

aim and the 

method of 

teaching 

b) Only 

method of 

teaching 

c) Aim of 

teaching 

d) Method  of 

education 

Both the aim 

and the 

method of 

teaching 

148 Structural social work theory conceptualizes structures as: (d) 

 a) Institutional 

arrangements 

and social 

relational 

patterns                                            

b) Individual 

action, 

intentions and 

meaning 

c) A sum of 

meanings or 

actions of an 

individual                                           

d) Social 

regularities 

and objective 

patterns in 

terms of 

institutional 

arrangements 

and relational 

patterns 

Social 

regularities 

and 

objective 

patterns in 

terms of 

institutional 

arrangement

s and 

relational 

patterns 
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149 Two statements labelled as Assertion and Justification are given. 

Read both the statements carefully and select the correct answer 

with the help of the codes: 

 

Assertion A: Social work profession recognizes the family as an 

important system in its own right. 

Reason R: The family as a unit is worthy of study and  

intervention. 

a 

 a) Both A and 

R are true and 

R is the correct 

explanation of 

A 

b)  Both A and 

R are true, But 

R is not the 

correct 

explanation of 

A 

c) A is True, 

But R is false 

d) A is false, 

bur R is true 

Both A and 

R are true 

and R is the 

correct 

explanation 

of A 

150 Which among the following statement is true in the context of 

hypothesis? 

A. It is only the alternative hypotheses can be tested. 

B. It is based on earlier studies. 

C. Both the alternative and null hypotheses can be tested. 

D. Both the alternative and null hypotheses cannot be tested. 

(b) 

 a) A only b) B only c) C only  d) D only B only 

 


